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Choose the correct answer from a, b, ¢ or d:

(8 marks: half a mark each)

1- (©) invasion
2- (©) base

3- (@ achieve

4- (© whose

5- (b) provide

6- (b) to behave
7- @ skill

8- (d) sunbathed
9- (@) recognise
10- (@) Molten
11-  (¢) will be doing
12- @) On

13- () he had put
14- (o) is

15- (@ Had

16- (d) system
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Find the mistake in Only Six (6) of the following sentences ,

then write it correctly : (6 marks : one mark each) : (Half a

mark for finding the mistake and half a mark for correcting it.

17- personnel — personal

18- texture Ao D) mixture

19- have been reading ——— have read

20- to break — > to have broken
21- Rubber PP Turpentine

22- is joining —_ > had joined

23- with _ > for

24- content S\ LS commit
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Respond to each of the following situations:

(4 marks: one mark each)

25- 1 don’t feel like it. How about going to the cinema?
26- Be careful or you’ll fall off the ladder!
27- 1 don’t agree with you. / I totally disapprove .

28- What does the word “phenomenon” mean?

(All reasonable answers are accepted .)
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Answer the following questions:(9 marks : one mark each)

29- Because she might recognize him and tell the people
that he wasn’t the real king.
30- He prevented Detchard from Killing the King until
Rassendyll entered the room and saved the King.
31- He didn’t let Michael in saying that he forgot the rules.
32- because he realised that he would be in trouble if
Michael’s plans succeeded as he knew much about them.
He hated Duke Michael.
33- Fritz to Rassendyll and Sapt.
34- Because the two teams (Rassendyll’s and the Duke’s) couldn’t
say anything in public without admitting their deeds.
35- In the king’s palace in Strelsau.

Find the mistake in two only of the following, then correct it.

36- (Students answer Only two)

a- remarkable difficult
b- Rose Antoinette
c- neighbour - > relative
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Mention the place , the speakers and the language function

of each of the following two mini-dialogues: (4 marks : two

marks for each mini dialogue: half a mark for each item)

37- Place: Hospital / Clinic

A: Patient

B: Doctor / Physician

Function of speaker B : Giving explanation / information
38- Place: Plane

A: Air host / hostess/ Flight attendant

B: Passenger / Traveller

Function of speaker A:  Inquiry

(All reasonable answers are accepted)
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Read the following passage , then answer the questions:

Three short answer questions (one mark each)

(2) multiple - choice ones with (4) options each)
(Half a mark each)

39- Instead of taking a honeymoon cruise to the Caribean,
they decided to spend a week in a rural village in
Guatemala where they helped raise money for an
irrigation project.

40-
a) founded
b) side by side

41- Because they help people in rural communities.
42- @ of different ages

43- © were inspired by the couple’s attitude

YA/ YAV J oW1 59t - das i yolt dAdialt Al



Yo VA/Y AV ul gl plall - Jo¥1 5ol - Gelalt A gdlid Aul yudt alalf Balgdd (o9 AA) o ¥ 1 QAL Bale by | 3400

(@) zagedt
=50

Read the following passage , then answer the questions:

Three short answer questions (one mark each)

(2) multiple - choice ones with (4) options each)
(Half a mark each)

44- So that more garbage can fit in each land fill.
45- 1600 pounds of waste each year.

46- The heat produced can be used to generate power.

47-© landfilling and incinerating

48-® organic fertilizer
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A. Translate into Arabic: (3 marks

Ada Lol agilLEIS) § agilalgads g il e allal) Gl Uiglale gl 281
.@thﬁj*ﬂd%‘ﬁj‘fdd\w\bﬂiﬂ

B. Translate into English: (2) marks : one mark each )
- We should implant love of work and affiliation in our
children and encourage them to be creative.

- Debates aim at training the new generations on participation
and constructive criticism.

- It is necessary to take precautions to confront / face the
risks of unexpected rain.

(Students have to translate two only.)

50- Write a Paragraph of about 100 words on Only One (1)
of the following: (6) marks

A- An achievement you are proud of
b- Team work
(2) marks are given for good organization and coherence,
(2) marks for relevance of ideas, (2) marks for accuracy
of sentence structure)
A3 (50) Adsh A
(22 (25) s Al 4a 4
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